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Improvement of Traffic Flow Model Considering the Automatic Gap Control Function and Its Effect

In recent years, the number of vehicles with Adaptive Cruise
Control(ACC) have increased with the development of
technology. ACC can keep a constant car gap. Ordinary
vehicles not equipped ACC and vehicles equipped ACC have
different speed determination cycle. In this research, we
develop a traffic flow model that considers the difference. This
model is based on the Nagel-Schreckenberg model(NaSch
model).
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